BF 100m A4 LL—RRHEQ24)

[1#] (  -1.3 m)

1 23858 HIL4 WEEBK-HE)11.37
2 249 EAF FEJT 2 (BEK-kEE) 11,39
3 24585 FRER3 (BB A-HH)11.49
4 240 A {4 FEER-HA) 11,72
5 251 fEx K ¥h2 (EBK-HH)11.76

D AN
s [

1 23858 HIA4 EEK-HIE) 11.37(-1.
249 LA FEA 2 (BEK-EE) 11.39 (1.
245 ¥ 5 PEER 3 (RS K- FA) 11,49 (-1.
200 8 A 4 (BB KA 1T 72(-1.
512K W2 EEK-FAHR)11.76(-1.
252 g5 R BE AT 2 (B KA 1177 (1.

[or I3 I~ LI G

BF 400m R

1 247 F K B 2 (#& I K-8 5)49. 85
2 25285 K WE A 2 (R B K-HiA) 50. 66
3 4628 F MK 1 (fEREK-H4H)51.92
4 255 B A& BROSE 2 (F& K- #Hri)54. 30
5 239&n K M= 4 (WEEK-LE)56. 43

BF 1500m R

1 464 FIAR I # 1 (&R K -HiA)4:08.78
2 237/ o N4 (&R K- KBR) 4:14. 59
3 241 P AR 4 (K-8 i) 4:22. 51
4 24823 K2 (BB K-#1))4:25.57

BF 3000m RE

1 459 KR Je 8 1 (FREK-EE)9:04. 46
2 243 By 3E 3 (REEK-EH)9:34. 24
3 2323 g IR 4 (SR - E5)9:59. 29

DD WWWLWwWw
RN ARG AN NG 2

(2#8] (  -1.6 m)

125285 K BEIT 2 (REER-WA) 1177
2 467% M A1 (RER-EE) 11,91
3 4628 F N1 (EEK-HH) 12.01
4 466 =R KRS 1 (f S K- ) 12.10
5 463 1 HER 1 (REEKR-HiA)12.13



BF 110mHI[1.067m/9. 14m] Rp%

( -0.2 m)
1233 &I &5 4 (EEK-%TF)16.88

BF 400mH R

1 247 FK B 2 (% 55K - 4 /) 53. 39
2 233 &%) H 4 (EEK-5TF)57.58
3 205G E BRO 2 (fRkEK-HE)62.73

BF 4x100mR R

T4 B RFA (245415 #HER 3 249 LAY FEJr 2 240%8 A fd} 4 2385578 [ELJA 4 )41.81
21 KRB (2315 3y sk 4 251k 2 K P2 2338 )11 &5 4 46745 H JE°F 1 )43.93



BF ok R

1 4657 &Hik1 @EA-TZ) 4md0

2 461 /R L1 (BEK-=5) 4m30
246 15 W #5 5E 3 (EE K- KM ERERAE L

BF EMEBk R

1 309554 @ CRAET-%EE) 6m7d -1.2
2 23174 B itk 4 CGERK- L) 6m26 ~1.2
3 463H 10 HER 1 (FEK-MEA) 5m80 -0.1
4 466 —iHifE KRS 1 (&% K- HK) 4mb8 0.0



ZF 100m ZA4LL—RREE24)

[1#2] (  -0.7 m)

11180 jik B 21 (BEX- =) 12.72
2115 N R A 1 (A -IhiE) 12, 83
31080 KA = 3 (fEEAK-1L#)12. 85
41089 E K Kk2 FEEK-EH)12.95
5 307 fex REZE (M7 E5)13.45

D AN
s [

1 1180 ji %y 1 (EBR-EIR)12.72
2 NT5 kIS A 1 (& K- ALiE) 12. 83
3 1080 Zx A 3 (R K- 1) 12. 85
4 1089 LA Rk 2 (WEEBK-EHH)12.95
5 3074~ KEZ  CIBUT #E)13. 45
6 1078 i Af 5 4 (FREEK-1@k5)13.48

ZF 400m RE

11078 Ay 365 4 (@)% K- 44 5) 56. 03
21089 4F Kok 2 (K- =4H)57.20
3 1180 i 7 21 (R K- =) 57. 60
41091 #k T 2 (K- K1) 59. 59
STTS ks & 1 (REK-1bEE) 60. 60
61177 R A9 = 1 (K- F#H)62.67

HF 3000m R

11090 75 i O 272 2 (FA R K- FH4%) 10:54. 84
2NTARKTEF 1 @ER-EH)11:13. 74
31083 & A7 A 3 (@R K- K%)11:52.86

(2#8] ¢  -1.7 m)

11078 P i SE5° 4 (RS K-H7)5) 13. 48
21091 & = 2 (fEEK-K¥)13.73
SUTTHHAT & 1 (f@EEK-H#H) 14.09
AN 4 F W H 1 (EEKR-AE#E) 14. 52

¥ 1 00mHI[0.840m/8. bm] R

( -0.6 m)
11173 &3F e A 1 @SR IEE)17.13



TF U [600g] R

11076 #2170 L 4 (& 5 K- 7K 4ik) 43m48
21176 KW E & 1 (EE K- AikE) 18m25

T+ faiix(4. Okgl RRE

T1176 K A& 1 (&K J0EE) 10m32
21076 2 117) L7 4 (18 5 R - 7k9%) Tm99



